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Please check that this question paper contains 4 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 25 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(i) ¥ B pT GEI25 3 /

(ii) Gt 3T 3Har & |

(iii) 97 G 1 — 14 T TY-IR T1 F97 & | JF F97 F 2 3% & | 77 G &P J97 H7
It 30 Jz] & 37ere BT 78] 57 TR |
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General Instructions :
(i)  There are 25 questions in all.
(ii)  All questions are compulsory.

(iii) Questions no. 1-14 are short answer type questions carrying 2 marks each. Answer
to each question should not exceed 30 words.

(iv) Questions no. 15-21 are long answer type questions carrying 4 marks each.
Answer to each question should not exceed 80 words.

(v)  Questions no. 22-25 are very long answer type questions carrying 6 marks each.
Answer to each question should not exceed 200 words. Question no. 25 is to be
answered on the basis of the passage given.

1. HshuUl it STHEE foehie & greg ohdl gIaT g ? 2
Why is transition period associated with population explosion ?
2. AE-T-H HT 7Y FaATSd | 2

Give the meaning of the term Laisse-z-faire.

3. EEE TS i hIE of forsimand sy | 1+1=2

State any two features of authoritarian state.

4. clmanSAtd. afraaTEiEeds ? 1+41=2
In what way Dalits are different from OBC’s ?

5. 3CEW e §d1sd foh unfifen stcuseashi ol ford yehr g1 e gedi 8 7 1+1=2
Give example how religious minority group suffer disadvantages ?

6. ST HTfeieh fohll TE A A o ? Ix4=2
How did the planters live ?

7. S 1 37 FaTsy | 2
Write the meaning of democracy.

8. T MR A YHSH GERI0T Sl ¥ AT 1@l ? 2

How independent India retained a global outlook ?
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BHI <1 H Y IR &l fore Tohr Tk g 8 IS U & 7 3801 SR | 1+1=2

In what way agriculture and culture are linked in our country ? Give example.

ST ST § 37T 1 FHIA & 7

What do you understand by the term benami transfer ?

SiTHeT o JHTL (F=RUT) | Y HSIGL o €9 H HIGATST hl HEHTRIT ohdl TG ?

How circulation of labour led to more participation of women as agricultural labour
force ?

IEIEERREACIR PRI

Give the meaning of term disinvestment.

et W o IFER T o Feufa’ e 2 7

What is ‘alienation situation’ according to Karl Marx ?

gedld ‘dreee! g frg ag imadi g ? 1+1=2

In what way strike is different from ‘lock-out’ ?

IR | o 31T § fiRrae o vt w1 Seoi@ hifu |
YAl

WA H 31T =T H ogd 31fereh & e 2 | SR 9amsy |

State the reasons for the decline in the sex-ratio in India.

OR
There are wide regional variations in the age structure in India. Give reasons.

TETHhE Sl o U, SIS 31 HeEw ST Tl & el 3 & | SR HIRT |

According to Alfred Gell, the market has significance much beyond the economic
functions. Explain.

AT 1 AR AUEH T I Y T @AM o 70, Iaer pE TR &M@ & 7

o i | 2+2=4

AYAT
T AR=pleh foforeal o Jfd SheR Sfgg i @d @ ¢
Explain how RTI Act makes the state accountable to the nation & its people.

OR
Why states are often suspicious of cultural diversity ?

SYaRTETe 3 ART <hl TSR] ! TATH ST | SAREHAT Shifofu |
Colonialism also led to considerable movement. Explain.
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TRt TS k1 Gfae™ | GHIEY A o fIU 8. 3Tt T Hgtedn meft g few mu qent
&1 s Hifvm |

Examine the arguments given by Dr. Ambedkar and Mahatma Gandhi for the
inclusion of Panchayati Raj in the Constitution.

Torae & 31e79ar b1 S ATCHd AT ST & IHeh HS AL bl TS | IETEWT ST |

State the common features central to the public perception of disability all over the
world. Give example.

3 fafirm Tfifoes aftadat 6t smen FHifse e yHgefientor @i asft & @@ |

Discuss the various political changes which have hastened globalisation.

TR H S 98 6] Il IEve o famiy el § Hifvu |

YAl
FTafafires TEE & G STfd TET fohd TE 8 3TR 3TfYeh Tefeg g3, Sme it |
Explain tribal indentities in India with special reference to Jharkhand.

OR
Discuss the ways that strengthened the institution of caste in India under Colonial rule.

AR G911 § IieraH <hl afshan o &9 1 gfgsiesor i saren K |

Discuss westernization as a process of social change in Indian society.

37 aEaH] ] Sd1Ed Sl foh GHRER-TA ST E B @ § |

Bring out the changes that have been occurring in the Newspaper industry.

Fr= few T e o6t ufew 3R fferad wet o s i
BN AR (FA9H) FEAT 1 H fvawi & amniies sTgieH 3T TR-FhRl Trei,
gTfeh T THEAIETE TR, HHETehR afifadi, Iudier TReer Siftereist, sete
FATSIATRTIET qUT STHTed T AR i o1t 3T T ST Teh fommer & a2 aug
A H The e H A & ... 3¢TEw o foTu fuee # fava =R @eq & foeg §¢
Teremet ferrer <1 Tt UTfeTes ®9 § ST - TG TSiTel I fomsit T3 o |
() TR Tl Tec T 319 T HHSA & 7
(F) STl o S 8 H SENfiehl hd ThR TERIAl idl g ? 3eelvl died
=TT IR |

Read the passage given below and answer the following questions :

In our current information age, social movements around the globe are able to join

together in huge regional and international networks comprising non-government

organisations, religious and humanitarian groups, human rights association, consumer

protection advocates, environmental activists and other who campaign in the public

interest. The enormous protests against the World Trade Organisation that took place

in Seattle, for example, were organized in part through internet-based network.

(a) What do you understand by the term social movement ?

(b) What role does technology play to make social movement get globalized ?
Explain with example.




